Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER- V EXAMINATION —Summer- 2019

Subject Code: 3350606 Date: 18-05-2019
Subject Name: Highway Engineering
Time: 02:30 PM to 05:00 PM Total Marks: 70

Instructions:

1. Attempt all questions.

2. Make Suitable assumptions wherever necessary.

3. Figures to the right indicate full marks.

4. Use of programmable & Communication aids are strictly prohibited.
5. Use of only simple calculator is permitted in Mathematics.

6. English version is authentic.

Q1 Answer any seven out of ten. £2HIl SlEURL Ulctoll ot . 14
Give full forms of CSIR and IRC.

CSIR el IRC oll YU ot Ul

Define camber and uses of camber.

$101R0{l cautvul w.

Define transition curve.

sl anisell carvaul .

Differentiate between Flexible Pavement and Rigid Pavement.
sl12 $UNUL| Wl a8 UG cARAA sttt WL
Why joints are required in Rigid pavement?

a3 suoltllHl Uil w2 %33 B?

What is PCU? Why it required?

PCU 9 87 all 12 Aol 3Rl 87

Define traffic volume.

2l3s Acyuoll caltvail .

Write definition of (1) Running speed (2) Spot speed.
cqruAl wUL. (1) Aelot dls (2) e Als.

Enlist tests of aggregate required for Highway construction.
ol8-A ciustHHl sURAl H2 %331 ullawel wseudl.
Write equation of sight distance.
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Q.2 Write the functions of Shoulders. 03
Ysl.? (W) 2lesRell sAl sl 03

OR
(@ Explain PIVE theory. 03

()  PIVE 23] qnestal. 03
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(b)  Calculate value of super elevation for a design speed of 75 kmph on a 03
horizontal curve of radius 118 m. Take f = 0.15.
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118 HleRe{l Buatl cnis UR 75 kmphell (32186t 2Uls HI2 ollal

Bslctell oLl 8. f = 0.15 AL

OR
State factors affecting road alignment.

acdloll ABAER] otssl $ReUHIZ AU $cll URB e el
Give the reasons for providing extra widening on the horizontal curve.
Al dsell dnis UR [Qrqdlsaletl 51200 U

OR
Explain overtaking sight distance with sketch.

wlAR2(5oL Uese (Sueo wusld WA wHestal.
Enlist types of gradient. Explain Ruling gradient and floating gradient.

3loall YslL LUl QA aln wal sl alot (AN AHes Al

OR
State factors affecting road geometrics and explain any one.

As AREsA AU 5l RN U

What are the objectives of Pavement?
gAGloll Al U,

OR
Enlist factors affecting selection of Pavement.

guoltlloll uleoll M2 HUR 5l UR KL LU
What is Prime Coat? State the objectives of applying prime coat.
YleHsle 9 87? usHsle dausal Higall ddll Bl

OR
Differentiate between tar and asphalt.

RS2 Aol 2R el dslald AL

Enlist the tests of Bitumen required for Highway construction. Explain any
one.

8l8-A oliusiH 1R (Aeyallotetl %331 uilawsloll el olottcll. dal
81 As (AN uxAAl.

OR
Give advantages and disadvantages of cement concrete Roads.

RAe 5512 Asell Sl2AEL W AR SLAEL ¥R
Write points to be kept in mind while selecting excavating equipment.
VeI 2otofl URlEO(HI tallatHi A clloll Ya1RAL U

OR
What is C.B.R test? Explain C.B.R test in detail.

C.B.R uRawal 9 8? C.B.R WlRaal (A

Write importance of drainage in Highways.
SLE-AHL dl2Ra] Heccl AHLAl.

OR
Explain causes of failure of flexible pavement.

st12l g0l qeclell s1REN U,
Give advantages and disadvantages of signal.
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OR
Explain types of traffic studies and necessity of traffic studies.

HoL caucslRell Udatolloll YUsl el 3Rl sl

Draw condition and collision diagram and explain it’s importance.

WA dUl UWRERAAA st €L

What is Informatory Signs? Explain with sketch.
Hedlue [Rauell 9 8?7 sl 3l AxsAl
Explain Principles of alignment of Hilly Roads.
uddla 1olell catseateldl Hizett Rtuidl AHestal.
Explain importance of Hill roads.

uddla {olej Hecal AmenAl.

Write a short note on Maintenance of bitumen roads.

(Qei{lot Asell [Aeucarll uR sl Awl.
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